Problem 14.26

If the input voltage in Problem 14.25 is 
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find the expression for the steady-state current io(t).

Suggested Solution

[image: image2.wmf](

)

(

)

(

)

(

)

(

)

1

00

0

0

0

0

1

21

.14.25/1sin

5

2

,,

2653

13

,

53

,,50,

2

||cos90

s

n

s

n

n

n

nt

probcircuitwvtV

n

jn

Ijnjn

s

Now

sVjnjn

jn

s

jn

NowGnandGn

jn

Fromthecircuitidccomponentiszero

nt

itGnA

ns

p

p

p

pwp

w

p

wp

p

q

p

p

q

p

¥

=

¥

=

æö

=-

ç÷

èø

====

++

+

==

+

-

æö

=-°+

ç÷

èø

å

å


_1050655726.unknown

